

Weightage:-- Graduation-15%Max-15, PG- 25%Max-25, NET-30%,Max-30

POST- LECTURER										SUBJECT- ENGLISH													
STATUS AFTER COUNSELLING																							
SN	Post Name	Branch	Application ID	Gender Name	DOB (DD-MMM-YYYY)	Category	Physically Handicapped	Freedom Fighter	Graduation Full Marks /CGPA Scale	Graduation Marks/ CGPA Obtained	Graduation Marks (%)	15% Col-12	PG Full Marks /CGPA Scale	PG Marks/ CGPA Obtained	PG Marks (%)	25% Col-16	Is NET	NET Marks	Weightage for Academic Qualification (15%(UG) + 25% (PG)) (Col-13+Col-17)	Weightage for Net 30% or Max 30 Marks	pre Counselling Total Weightage	Post counselling Total Weightage	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24
1	Lecturer	English	LEC/0015540	Female	8-May-94	GEN	N	No	800	611	76.38	11.45	400	274	68.5	17.13	Y	196	28.58	19.6	48.18	-	Absent
2	Lecturer	English	LEC/0004752	Female	25-Mar-95	GEN	N	No	1600	1049	65.56	9.83	2100	1680	80	20	Y	180	29.83	18	47.83	-	Absent
3	Lecturer	English	LEC/0002260	Male	5-Jan-94	GEN	N	No	800	486	60.75	9.11	1000	694	69.4	17.35	Y	196	26.46	19.6	46.06	-	-
4	Lecturer	English	LEC/0018491	Female	21-Oct-93	GEN	N	Yes	2600	2132	82	12.3	1800	1290	71.67	17.92	Y	158	30.22	15.8	46.02	46.02	-
5	Lecturer	English	LEC/0012380	Male	27-Jan-90	GEN	N	No	800	521	65.12	9.76	1600	1162	72.62	18.16	Y	176	27.92	17.6	45.52	-	Absent
6	Lecturer	English	LEC/0012522	Female	8-Aug-94	BC	N	No	1600	1078	67.38	10.1	2400	1711	71.29	17.82	Y	162	27.93	16.2	44.13	44.13	-
7	Lecturer	English	LEC/0011727	Female	13-Feb-85	GEN	N	No	800	515	64.38	9.65	1600	1056	66	16.5	Y	178	26.16	17.8	43.96	41.4	-
8	Lecturer	English	LEC/0015653	Female	2-May-94	GEN	N	No	800	476	59.5	8.92	1000	673	67.3	16.83	Y	176	25.75	17.6	43.35	-	Absent
9	Lecturer	English	LEC/0013028	Female	4-Oct-95	GEN	N	No	800	525	65.62	9.84	1600	1024	64	16	Y	170	25.84	17	42.84	42.84	-
10	Lecturer	English	LEC/0022911	Male	8-Feb-92	GEN	N	No	1800	933	51.83	7.77	1600	1048	65.5	16.38	Y	180	24.15	18	42.15	-	Absent
11	Lecturer	English	LEC/0002959	Male	18-Sep-94	EBC	N	No	2700	1941	71.89	10.78	1600	1057	66.06	16.52	Y	144	27.3	14.4	41.7	41.8	-
12	Lecturer	English	LEC/0000670	Female	11-Dec-89	GEN	N	No	900	510	56.67	8.5	1600	977	61.06	15.27	Y	178	23.77	17.8	41.57	-	Absent

Weightage:-- Graduation-15%Max-15, PG- 25%Max-25, NET-30%,Max-30

SN	Post Name	Branch	Application ID	Gender Name	DOB (DD-MMM-YYYY)	Category	Physically Handicapped	Freedom Fighter	Graduation Full Marks /CGPA Scale	Graduation Marks/ CGPA Obtained	Graduation Marks (%)	15% Col-12	PG Full Marks /CGPA Scale	PG Marks/ CGPA Obtained	PG Marks (%)	25% Col-16	Is NET	NET Marks	Weightage for Academic Qualification (15%(UG) + 25% (PG)) (Col-13+Col-17)	Weightage for Net 30% or Max 30 Marks	pre Counselling Total Weightage	Post counselling Total Weightage	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24
13	Lecturer	English	LEC/0018383	Male	16-Mar-96	BC	N	No	800	461	57.63	8.64	2100	1422	67.71	16.93	Y	152	25.57	15.2	40.77	40.77	Non cream layer certificate not submitted
14	Lecturer	English	LEC/0001272	Female	6-Jan-90	BC	N	No	1800	1052	58.44	8.76	1000	643	64.3	16.08	Y	146	24.84	14.6	39.44	39.44	-
15	Lecturer	English	LEC/0000451	Male	21-Oct-92	SC	N	No	1800	1112	61.78	9.26	1000	611	61.1	15.28	Y	136	24.54	13.6	38.14	38.14	-
16	Lecturer	English	LEC/0008583	Female	25-Feb-89	EBC	N	No	800	445	55.62	8.34	1600	974	60.88	15.22	Y	140	23.56	14	37.56	37.56	-
17	Lecturer	English	LEC/0001420	Male	3-Oct-90	BC	N	No	1100	518	47.09	7.06	1600	960	60	15	Y	152	22.06	15.2	37.26	-	Absent
18	Lecturer	English	LEC/0018829	Female	9-Aug-93	GEN	N	No	10	8.17	81.7	12.25	10	7.93	79.3	19.83	Y	50.85	32.08	5.09	37.17	-	Absent
19	Lecturer	English	LEC/0015127	Female	20-Jul-93	GEN	N	No	3600	2304	64	9.6	1600	1288	80.5	20.13	Y	72	29.73	7.2	36.93	-	Absent
20	Lecturer	English	LEC/0011432	Male	25-Jun-88	BC	N	No	1500	714	47.6	7.14	1600	976	61	15.25	Y	140	22.39	14	36.39	36.39	-
21	Lecturer	English	LEC/0010035	Female	19-Mar-95	GEN	N	No	900	600	66.67	10	10	8.13	81.3	20.33	Y	58	30.33	5.8	36.13	47.61	-
22	Lecturer	English	LEC/0024646	Female	22-Nov-93	GEN	N	No	800	506	63.25	9.48	1600	1341	83.81	20.95	Y	52	30.44	5.2	35.64	46.04	-
23	Lecturer	English	LEC/0004534	Female	27-Sep-93	SC	N	No	1500	954	63.6	9.54	10	8.54	85.4	21.35	Y	44	30.89	4.4	35.29	44.58	-
24	Lecturer	English	LEC/0007378	Female	15-Jun-92	SC	N	No	800	488	61	9.15	1600	1076	67.25	16.81	Y	92.3	25.96	9.23	35.19	-	Absent
25	Lecturer	English	LEC/0020050	Female	5-Apr-92	BC	N	No	800	480	60	9	1600	1063	66.44	16.61	Y	95.82	25.61	9.58	35.19	-	-
26	Lecturer	English	LEC/0013100	Female	25-Oct-94	GEN	N	No	1600	1173	73.31	10.99	1600	1098	68.62	17.16	Y	59.33	28.15	5.93	34.08	-	-

Weightage:-- Graduation-15%Max-15, PG- 25%Max-25, NET-30%,Max-30

SN	Post Name	Branch	Application ID	Gender Name	DOB (DD-MMM-YYYY)	Category	Physically Handicapped	Freedom Fighter	Graduation Full Marks /CGPA Scale	Graduation Marks/ CGPA Obtained	Graduation Marks (%)	15% Col-12	PG Full Marks /CGPA Scale	PG Marks/ CGPA Obtained	PG Marks (%)	25% Col-16	Is NET	NET Marks	Weightage for Academic Qualification (15%(UG) + 25% (PG)) (Col-13+Col-17)	Weightage for Net 30% or Max 30 Marks	pre Counselling Total Weightage	Post counselling Total Weightage	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24
27	Lecturer	English	LEC/0002520	Female	29-Jun-92	GEN	N	No	800	531	66.38	9.95	1600	1155	72.19	18.05	Y	60	28	6	34	-	-
28	Lecturer	English	LEC/0004055	Female	21-Aug-90	BC	N	No	800	443	55.38	8.3	1600	1043	65.19	16.3	Y	92.31	24.6	9.23	33.84	-	-
29	Lecturer	English	LEC/0000586	Male	12-May-95	GEN	N	No	1500	1018	67.87	10.18	10	6.85	68.5	17.13	Y	54.86	27.31	5.49	32.79	-	Absent
30	Lecturer	English	LEC/0019814	Female	3-Dec-96	GEN	N	No	2600	1984	76.31	11.44	1600	1031	64.44	16.11	Y	50.29	27.56	5.03	32.59	-	-
31	Lecturer	English	LEC/0001955	Female	18-Nov-92	SC	N	No	1500	964	64.27	9.64	10	6.66	66.6	16.65	Y	58	26.29	5.8	32.09	30.89	-
32	Lecturer	English	LEC/0005792	Female	5-Feb-95	GEN	N	No	5400	3895	72.13	10.81	900	560	62.22	15.56	Y	54.67	26.37	5.47	31.84	-	-
33	Lecturer	English	LEC/0017041	Female	6-Feb-88	GEN	N	No	800	527	65.88	9.88	10	6.75	67.5	16.88	Y	49.71	26.76	4.97	31.73	-	-
34	Lecturer	English	LEC/0001505	Female	12-Oct-84	GEN	N	No	1500	895	59.67	8.95	1600	1104	69	17.25	Y	53.33	26.2	5.33	31.53	-	-
35	Lecturer	English	LEC/0020996	Female	4-Jul-87	GEN	N	No	1800	1094	60.78	9.11	1000	650	65	16.25	Y	58	25.37	5.8	31.17	-	-
36	Lecturer	English	LEC/0018570	Female	9-Mar-91	GEN	N	No	1200	795	66.25	9.93	800	489	61.12	15.28	Y	59.33	25.22	5.93	31.15	-	-
37	Lecturer	English	LEC/0015923	Female	20-Sep-91	GEN	N	No	800	464	58	8.7	1000	632	63.2	15.8	Y	66.24	24.5	6.62	31.12	-	-
38	Lecturer	English	LEC/0006249	Female	15-Oct-94	GEN	N	No	1000	666	66.6	9.99	1000	636	63.6	15.9	Y	52	25.89	5.2	31.09	-	-
39	Lecturer	English	LEC/0020653	Female	20-Aug-83	GEN	N	No	1200	769.6	64.13	9.61	800	498	62.25	15.56	Y	58.67	25.18	5.87	31.05	-	-
40	Lecturer	English	LEC/0010762	Female	28-May-89	BC	N	No	800	497	62.12	9.31	1600	960	60	15	Y	64.57	24.32	6.46	30.78	-	-
41	Lecturer	English	LEC/0003002	Female	23-Feb-95	BC	N	No	1000	712	71.2	10.68	800	492	61.5	15.38	Y	46.67	26.06	4.67	30.72	-	-

Weightage:-- Graduation-15%Max-15, PG- 25%Max-25, NET-30%,Max-30

SN	Post Name	Branch	Application ID	Gender Name	DOB (DD-MMM-YYYY)	Category	Physically Handicapped	Freedom Fighter	Graduation Full Marks /CGPA Scale	Graduation Marks/ CGPA Obtained	Graduation Marks (%)	15% Col-12	PG Full Marks /CGPA Scale	PG Marks/ CGPA Obtained	PG Marks (%)	25% Col-16	Is NET	NET Marks	Weightage for Academic Qualification (15%(UG) + 25% (PG)) (Col-13+Col-17)	Weightage for Net 30% or Max 30 Marks	pre Counselling Total Weightage	Post counselling Total Weightage	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24
42	Lecturer	English	LEC/0017725	Male	10-Sep-93	GEN	N	No	1200	741	61.75	9.26	1000	643	64.3	16.08	Y	52	25.34	5.2	30.54	40.94	-
43	Lecturer	English	LEC/0010169	Male	6-Nov-92	GEN	N	No	800	445	55.62	8.34	1000	686	68.6	17.15	Y	49.71	25.49	4.97	30.46	40.4	-
44	Lecturer	English	LEC/0002839	Female	22-Mar-75	GEN	N	No	1800	1032	57.33	8.59	1000	602	60.2	15.05	Y	65.14	23.65	6.51	30.16	-	-
45	Lecturer	English	LEC/0016507	Female	13-Oct-93	BC	N	No	1800	1179	65.5	9.82	1200	729	60.75	15.19	Y	46.29	25.01	4.63	29.64	-	-
46	Lecturer	English	LEC/0024957	Female	16-May-94	BC	N	No	1600	1028	64.25	9.63	1600	965	60.31	15.08	Y	47.33	24.72	4.73	29.45	-	-
47	Lecturer	English	LEC/0011772	Male	8-Mar-93	GEN	N	No	800	419	52.38	7.85	1000	630	63	15.75	Y	46.67	23.61	4.67	28.27	-	Absent
48	Lecturer	English	LEC/0015892	Female	6-Dec-93	GEN	N	No	1000	692	69.2	10.38	1000	705	70.5	17.63	Y		28.01	0	28.01	-	-
49	Lecturer	English	LEC/0008316	Female	8-Nov-93	GEN	N	No	1600	970	60.62	9.09	1600	1128	70.5	17.63	Y		26.72	0	26.72	-	-
50	Lecturer	English	LEC/0001609	Female	20-Dec-93	BC	N	No	800	495	61.88	9.28	1600	1110	69.38	17.35	Y		26.63	0	26.63	-	-
51	Lecturer	English	LEC/0003093	Female	12-Nov-94	GEN	N	No	800	430	53.75	8.06	100	68	68	17	Y		25.06	0	25.06	-	-
52	Lecturer	English	LEC/0004498	Male	10-Jul-90	GEN	N	No	1200	720	60	9	1000	622	62.2	15.55	Y		24.55	0	24.55	-	-
53	Lecturer	English	LEC/0020163	Male	5-Oct-90	GEN	N	No	1800	1068	59.33	8.89	1000	618	61.8	15.45	Y		24.35	0	24.35	-	-